= BARRACUDA

ASSEMBLING INSTRUCTION LEGEND

1. ADAPTER
ADATTATORE
MIRRORS ADAPTERS FITTING honeter n
ADAPTATEUR

YP08-12 ADATT

2. SCREW M6X14
VITE M6X14
TORNILLO M6X14
SCHRAUBE M6X14
VIS MeX14

WWW.BARRACUDAMOTO.COM




